_210

10

)
L
©
e
o m
ﬁ Il
o
A
Cn =
O N—
Q ©
%
0
el ]
N ©
o|J I
kB
No o
oln e
T © @



AEEsle g 242 o] AFAS: ¢ ©] FHS FHelH?

1
<o.a<§%Lﬁ

@ 2 B3 4 @ 6 ® 8



S o4 AB 9| Zol|7} 4a%h, BC
9] 2017} La¥l aABCOIH ABE %0
2 slo] 8|47 8479 RS 75}
oet,

>0




4. a=3x-5y, b=x-4 &

, (5a—3b) —2(2a+ b) & x, y ol T3t
2410 2 Epfjoig},

s
=¥



A} (2 = 20+ 6) + (262 - 3x + 4) B 7heho] olw?

1

D 2 -3x+10 @ 2x2-x+10 ® 3x2-5x+6

@ 3x2-5x+10 ® 3x2 L 5x 1+ 10



6. 0.65-04Z AASHA

D 01 ® 092 3 0.02 @ 0.21 3 0921



5 3 )
§x2 —dx+ 2% - 3r = ax® 4+ bx A a+ b2l TS F5HH?

@ -2 @ -1 3 0 @ 1 ® 2



)? %
(_
1
2
a
bS
)
= 3a2b
o]
ak
=

?

©)
6
@
-6
®
12



31
99

® 0.31

@ o0.127



10. y = 4x -39 o, —4x® + 2xy — y & xo] B3 A o2 vetd o,
Ax* + Bx+CO|H A+ B+ C9| 327

D =11 ® -3 A 3 @ 11 ® 13



2 _o.2 o Tjolar
DY WD o g et
11. x=2, y=-34 of o 5

s
=¥



12.

x=2 b y=-3a+bA W, 20-5yF q bo] B Aoz &7

vrebdl e

@ 19a-17b @ 19a-Tb

@ 19+ 7b ® 194 + 3b

@ 19a - 3b



13. 64! — (1>72H
D7 2wl xol gre petelel



@ 3.14






1 oje}, o] i, A 3x -4 o] g A4tste

@ 3x(-5)-4 @ 6x(-5)-4 ® 3x(-2)-4



17. tae TEA7




2 Uenae

<

i
<}
<
o
<H
ol

3.015

191
330

109
330

O]

109
330

®

199
66

@

16
99

@



£ Fotw?

sf

x+0.5=0.08 9

11
15

4
15

® - @

Q -

11
15



20. AZFAQEY W, L xAS £S5 R §4571 BrF
oful, 74 2e A% A Totolek
R

=



21. o5 3 82 A
D a®xa®xa® =a% @ a3 x3a*=3a"
@ a®+a®xa=d° @ (2a)® = 6a®

® (3a)? xa® = 9a'®



Felzt.

S

A a9 G



@ 2x+5y_3

@ 3y2+2

FelARA el A2

@ 3x2+1-3x2

@ —2x3 —+ x2

1
® —§x2 +3



o)y

2893
900

® 3.214

97
90

=0.27

@ 1.07
5
18

46
99
=0.318 ®

7
29

@



25. o5 5 &2 A
D a®xa®xa® =a% @ a3 x3a*=3a"
@ a®+a®xa=d° @ (2a)® = 6a®

® (3a)? xa® = 9a'®



. ofu,

s

® 5 A 6 @ 7 B 9

@D 3



)
27. A+0.3:§?=l o, A 9] Fr2?

D 0.2 @ 0.23 3 0.3 @ 0.32 3 0.4



=

HEO Hul7} 27nad em® @ o, B

2aq cm 3 3acm @ 4acm 3 5acm



